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HAIE B,

GuedR idiAl olss sHis-l uaylast 21-. OMR Grzua,
i § dell witadl 52 Adl v vis FElas dad o el
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LA 28l
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folel dl GHEdlRA SRS SLoldM Bl dxey el
Wl oyoL Al uR Uldele, Wadl o] AaiMl sl
e, WRlel el vieRlpier dRMR sdl, vl srdl &
(Flatsl 2qritizll Geadeirt s2d 3 i 818 SR sl d
SRS 2L21L8L dH WAl dalel,

(10) Grleauz aguil / sl olle, Wi el Gl el-l 8§, i,

ol & UeL B U dauL A3e 2l Gurlion 530 elgel Ll qal
a3e 2wdl (White Ink), o4ls § 200128l § 2421 Sig waL £ld
SREL AHIRL Wi, SLRUEL Al

W3l sl ga sl OMR Grizust 9ol (AlstsA Abau oue
asfuis (Slats sl aolvis Blsardl L ui cuzsue
o apluls Blsal-dl 284l A s 522 el GHeeR-
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1L AW aitoll YRg s21R el Al o atidell YreisAglloll dAlBdRML AcMlet WAL AWSa] olld

Rl
(A) el {lgHiR al (B) Ul aSleRal
(C) HIEIHE HisS (D) GHLaisR 12l

2. A Welltoll 8- A 5uuSuUR Actl 2 ol At (QAtulell L2l A
(1) 3L Acll 3601 5185 UL Ioilofl WFUUSUIR ol AlBet ELUA 53] ASLA B.
(2) AL Acll 36501 AMIH YsLRetl W Slotl dfailofl WFUESUIR ot ALt EIHA 53] ASIA B.
GURell (Aol Ul 53] / sl (Qtitet / (Qeitoll ALY / AU B?
(A) 85c 1 (B) $5c12
(C) 1w 2 ol (D) olaHiel As UL o1&l
3. 9ol 8lAst (AN o{lActi [Qtutoll taulal AL
(1) clotRA% UL wWelEcals Uzl Raiustl 531 sdl.
2) weklell gA_MAl cta Hlatng A oiudet el
(3) %ellot@etl 2 X WollRell €153 Ge aHlotl Aoot e{lHE al udetl WA Ul sl
(4) o AASA RgdHAcE o ol 2Uatl sA &l
GURell (Aol U8l sl [Qutell il 82
(A) $5cL 1 Ual 2 (B) $5c1 2 Aal 3

(C) 85 2 AA 4 (D) $5cl 1 Aol 3

4, dUL A UUs (AN At s s e AL

Al — AUWS
1. AMEWL Rt — el AHEWL URHEU
2. @THIY HBELAU UG — $RElel% olalRAY
3. o6l el — RAARAHH g AU
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m olollRU (Bof (Qulaencar - HEol Hlgel Hi (AL
GuRell 55t Usl saul w1ssi WSPACE FOR ROUGH WORK
(A) $5cl 1,2 Wal 3 (B) $5¢c1 2, 3 ol 4
(C) §5cL 1, 3 Wl 4 (D) 1,2,3 v 4

5. %lssislsl

1oL A oot
1. oL - 3 5. qoed A(AsIR
2. 4L - 4 W A d %1

3.000-4A oL A%U{l[Atl Hdle s Rgicdl

4. @UaL-5 . Bos UBSR

ol tUlR0Lell L Al AHL AHUAR Lot WSl ol Aotl ool US| ULA S cllol UE 3.
(A) 1-8, 2-0L, 3-W, 4-5§ (B) 1-8, 2-84, 3-W, 4-31

(C) 1-8, 2-W, 391, 4-4 (D) 1-5, 2-91, 3-W, 4-8l

6.  ABSsl LSl

Yelsldd Reell

1. Aodl ALBAIL 8. Y

2. ML B, YreAsled W, RS2

3. 8l A&y deta Yresida oL UHELCE
4. oie clsd3l T CEE

YesledA Aol A B (FeAHl AAA ® A Als i ol Aol ercitell UL AL gcllet UAE 532
(A) 1-W, 2-9, 3-¢4, 4-8 (B) 1-9, 2-W, 3-¢, 4-§

(C) 1-W, 2-3, 3-8, 4-Y (D) 1-9L, 2-W, 3-8, 4-4

7. As Wgdal Wdllott Qcttoll 100 Qe wlotioll Ui eugul-edell A Uwl etdl adAUR(l Udi Asll
alotoll alot Holl uR ete AQ 4 (Qau ¥ Hlot cll WREL, uR wte Aol WAell et gHlot UL 2/3 H{lot AQ
Aotl Acttollal 2L €1l AL Aoll WA Fecll sHlot ousl 28312



10.

11.

12.

13.

(A) 8 Qe (B) 12 [Qat

(©) 16 (Qaut (D) 24 Qe

When I came to my cave, I ran inside it, as if [ was .
(A) chased (B) being chased

(C) be chased (D) having chased

They were all the same way and all of them beards of various shapes and colours.
(A) dress, have (B) dressed, have

(C) dress, had (D) dressed, had

‘ol olRRe , ocll HRL, WRl S, WRl 9R1 -t Gt Slo{l &2
(A) Sloct (B) HRlAlA (A€l

(©) scudl (D) Vi8R Yl

el USAL 3B YD1l (Ascu ue 53 .
(A) U2 weel ¥q (B) U2 eloflal 284

(C) U2HL oL G cll (D) U2 U_ElE %q

Gl e(lal AR el ol Al WSl udcAmLuell 520 1 URA B2
(A) ualdl, Qaul@s, [Qranud, urdedl
(B) ARaecl(Qranuc, vsudl, Qalds
() [Qtauud, wRded], dalld, Qau@s

(D) RQau@s, wRacd, [Qrauuc, uaud

185701 (Quetet (AN o{lAati [Qrutoll taua A

(1) @Qrctciofl 232 10 R 185741l A% N6l &S,

(2) AUl [Aweta 512l ollsell A Y eAsyRuI Hold uild alde g2l el
GURall [Quiell Ul 53] / sl (Aot / [@Quloll ALY / AU B?

(A) 85c 1 (B) 8512

(C) 1 W 2 6ial (D) staHiel As uwL o8l

[PJC [P.T.0



14. mue dlat gl yeuel 213 ol Aeti [Quiell e AL

15.

16.

1. HollHs Q36 wQaud YRASPACKEQR ROBGHIVORK
2. Ul oAU Ue Slall A,

3. Asty el cllsUellotl Ue’L Slall S,

GuRell (Qutell USl 59f / sl [Quitet / [Quitell ALY / AU B?

(A) $5cl 1 (B) $5cl 2 ¥al 3

(C) §5cl 1 WA 3 (D) 1,2 a3

ARAHL 5EAl cll wal wolly Ad sl sl A>AHL HA B2
1. 9J%2Ucl

2. M

3. HalR1Y

4. ulY ygal

ol Aot Usl ALA [@Aseu e sA.

(A) $5cL 1,2 ¥al 3

(B) $5c1 2,3 ol 4

(C) §5c 1, 3 Wal 4

(D) 1,2,3 WA 4

waldRela slletelloll 3 HI2 widRAEIA Yl Aol@ld ol et ([QAuell tauial AL

1. Aot ANCAot dod YIRMRA{l 2UNTAR A Yost (Aot 4R8I0 URCle] AN B.

2. RAsEH AN AUcld 51615 UM S| (Persistent Organic Pollutants) UcAlej ANCat 8.

3. HloglAA WRSIA IflotslGU AU Guat telscll HiZoll AidAE 1A WASIA B.

4. sl YRLSIA Mot 2ctRal &ll 56111 WELAl URcA AidRRAE2A valaRel Y2lslc .
GURell (Aol USl sl [Qutsll il 82

(A) $5c 1,2 ¥al 3 (B) $5cl 3 AR 4



(C) §5cl 1 WA 2 (D) 1,2,3 ¥al 4 m

17. A cOIHI 20 8152 ol 30 Ol531A A B. lsABNA U222 QLRAE 150 Aol Hl22 el lslullefl u221aL
BLRUE 145 AcodlHl22 V. vl cdletl Bl521- BlsIlo(l U322 QrUE 32cll 8312

(A) 147 (B) 147.5
(C) 148 (D) 148.5
18.  One day, when I was going towards my boat, [ was surprised a footprint of a man on the sand.
(A) saw (B) show
(C) to see (D) showed
19. How many days would it for the train to reach New Delhi?
(A) took (B) take
(C) will take (D) taken

20.  AUBASIR WA AHell 5[A2 AN ol Aoti A5 5l L2l A

ARsR (A

1.yl olg - USUR, dadHRA , AYsllead
2. A% U - WSYUR, 2303, ol
3.¢cllR Al - YL, O, Ag) ARIEl

4. Aasict olell -usatl goll atau, VAR

GURelL 15 sl USl sl 1S si AUl B2
(A) $5c 1,20 3 (B) $5c1 2, 3w 4

(C) §5cL 1, 2 Ao\ 4 (D) 1,2,3 ¥al 4

21, o{lActt s Qo Aseall / oll AMLtLel 20E / AGEL 520 / 52U B?
1. @dd
2.6R9
3. ool
4. e\l

o{lAatl @scunioll urie s
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22.

23.

24.

25.

EL.) A 1 (B) HI2L 1 Aol 2

(C) LA 2 WA 4 SPACE FOR ROUGH WORK

JNNURM 0%l o{l Aol US| 2 Aoi@d B?
(A) A3 A2soUR (B) 2015

(©) atHleL AR (D) &3 AR Wy

A% A1 &et A2 (AN ol Aol (Qtutall L2dl AL

(1) QA ule{la et s{l euustt 531 ocll.

(2) RAA Y(clyestall (AR sl scll.

(3) AQRAA Rog tioll Ml Mt Aol Elsill uR oruLet sl sl
GURell (Al U8l 53 / sl (QAtitot / [Qeitoll ALY / ALUL B?

(A) $5cl 1 (B) $5cl 1 o\ 2

(C) 852 (D) 1,2 a3

el doll A U(Qo{l UtRA i3 ol At (Atutell L1 AL

1. Al aULAsl Rugs 52 8.

2. Al Aottell 2B Uinetl ausL 8.

3. Al Alsuelloll 2lsell [Augs 53 8.

4. QL AR AHELA ol Jud sl (cloll Rus 52 8.

GURell (Aol Ul sl [Qutsll el 82

(A) $5cl 1,2 a3 (B) $5cl 1,3 o\ 4

(C) $5c1 2, 3 ol 4 (D) $5cl 1,2 Wl 4

3w AHidl / Aol WA uak Ul oA €1RA (AN lAetl A\ S5 U AL

AR o€l
1. Adutall —a0HA

2. U2l —alau



26.

3. 3ERAGUE —yall

4. 1YL — Ayl
GURall $lssl USl saul s si uLuUL B2
(A) $5cl 1,2 ¥al 3

(B) $5c1 2, 3 ol 4

(C) $5cl 1,3 Wl 4

(D) 1,2,3 WA 4

UYsd A valaRel stisH (UNEP)ell oot 3601 &UNARA Yosi[Alloll A& (Convention on the

Conservation of Migratory Species of Wild Animals)cﬂ u&‘lQQQlC*t&ﬂ AR w6l 1341 Slogo VS wélos (COP)

of w2l ofl Aotl US| sl ASRHL s HL L] &2

27.

28.

29.

30.

31.

(A) olitlletolR (B) dAlo0

(©) AR (D) ollet

A ol He{l s clrell 1200 B. Bl WA Yuof YHIRL 5:3 Sl L B{AlAl vl decll?

(A) 350 (B) 450

(©) 550 (D) 750

One day the mother-in-law of a Santhal bridegroom a special dish for him when he visited her.
(A) cook (B) cooked

(C) cooking (D) will cook

What the dotted line on the map show?

(A) does (B) do

©)is (D) was

“US Uottle UR ole A 8BS 2121 7 URG dllctett (A slaL B2
(A) Yol Golly (B) o126 Hedll

(C) EARH (D) &3lost £Q

sdcldl HI2 %€l usdl (Ascu urie s
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32.

33.

34.

E(_A) 55 VRS ML UL — UIRSL ML % slat IR

(B) 6leil sl 3 cltd — wiS) VP AGCEK FOR ROUGH WORK
(C) <ol U UL — alts (Aett A otl U3

(D) GUGR] cllAR 2L, AR AW UL — AWIR] A cAR]

o{lAett WSl sl R lat N SIRARA UACAS JHAHT Ass/2145] %) 9L B?

1. UL &l 6w 2. UBall AseUA 3.Ul L Ry

4. {RAwe AUle] 5. ol A URL 6. A3 s1U

ol Aot Ul WA [Aseu urie s

(A) A1, 2,4, 53 6 (B) HIA 2, 3,4, 5 ¥al 6
(C) HIA 2, 3,5 6 (D) 1,2,3,4,53a 6

ot Ui (AN o{lAct (Qtutell taua A

(1) st Hl2la 51208 ot el YR sullesHi &l

(2) HOLtall AL 2SR SR8 ot Ulall YR AS&UAHL &AL
(3) s(AdLoll A2 VIR AAA 5120 ot ol YA S ML &AL
@) Wedlystul Fot i ulRNe 208 sddl.

GuRell (Quell Ul 52f / sl [Quitot / [Quutall ALY / AU B2

(A) $5cl 1 (B) §5cL 1,2 ua 3

(C) 85cl 1,3 Ual 4 (D) 1,2,3 3ol 4

Ul ues el 243\ ol Aeti [Qulell tauial AL
(1) GlelRQell ateHL etdLoll latelesl sitllRuloll 898l UefyRUL e20Ad A0 cld] Uscll otell.

(2) Ul g0 Arelo] uid ad ugal [Quosot sl A Slat ua doll AHAUO YA AciHi 6 Wl

UL UHA oSl Qad Al Aol 2feall sRcll sAPuct 8.

GURell [Quutell U8l 53 / sl [Qtitet / (QAeitoll ALY / WAL B?

(A) 85 1 (B) $5c1 2



35.

36.

37.

(C) 1 W 2 6ial (D) sl As ueL o8l

oA ctoll AlASIRS U U A sl (FecAlHi AUAA B A (AN ol Aotl s 5T L2l AL

WU Reeal
1.alouclR — 5%
2.AlUA —BHELAlE
3. 408l P EE|
4.50uRauetl 221 — ootlUsisl
5. sl ala —WHELALE

GURell B5sl US| sl M ssl AU B?
(A) g5 1,2 0 3 (B) 851 2,3 A 4

(C) §5cL 1, 2 W\ 4 (D) $5cl 1,2 3al 5

ISFR — 20216tl Udcllcd Yosol ol Aot AN clot L0 [ArcllRell $AH A2A$O AL ABAL SHHL N6,
(A) HERL YR 2L, wRUAUA Y 2L, so<(luole, S 2, HelRe.
(B) A0UAA Y2, 9{l1ota, Heal Y 2L, Hellre, A3,
(C) HolRxg, (32, 9c{luole, WRUUAA Y& 2L, Hral YE L.

(D) {loLe, HelRR, AU AL, HEd Y& 2L, AURUAA YR 2L

AlRlett As AW WA AWl (BHdett 500 812U B. Al 8lRLell et (B 25 5AS V%1 AMiel 250 Alrell

Aol A3 U st AL, A QUL WA Fectl SRt ol sl 23912

38.

39.

(A) 450 (B) 425
(C) 400 (D) 350

In the morning the hunter came to the tree and .
(A) climbing up (B) climb up
(C) to climb up (D) started climbing up

The words in the sentence below are jumbled.

I went the towards footprint large Rearrange the words to make a meaningful sentence and choose the correct

answer from below where the words are in order.
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40.

41.

42.

m&) I large went towards the footprint.
(B) I went the footprint towards large.
35 RK
(C) I went towards the large footprint.ACE FOR ROUGH WO

(D) I went the large footprint towards.

sleA U5t A (A (AN ol Aot WS sl L0 AL

sl s(A

1. 1Rl AW S50l Y% — AW U

2. Al sRjellall 201 —2aAe AUl
3. O0R ML Ui AiorullA Y — A URH

4. H{lsl Hy A lsl Ageu 2 At — €L V. GlRLESR

GURtL s sl USl sl As sl AUl B2
(A) g5l 1,2 0ol 3 (B) 851 2,3 A 4

(C) $5cl 1,2 ol 4 (D) 1,2,3 ol 4

sdcldl HIZ el usdl (Ascu urie 5.

(A) A& SLEll o1g WS — Aclcll otR UEL Yull

(B) WLt WA A — 03] Aol §18 ot £:u—)

(C) Bl YauRllA AR cid — As sl cAloll ot ud

(D) WA Alet A UlUe] 4o - AR ARIGL 1L

202241 RHIAA 3610 AFL2A RH AR ol Aol US| 52Ul ABAHL 0 AlHT LR 5AL?
1. olitlletorR

2. YRd

3. A HalOR

4. MLclotdIR

o{lAett WSl WA [AscU Ure 53

(A) §5cl 1,2 3al 3 (B) §5cL 1,2 v 4



43.

44,

45.

(C) §512,3 U\ 4 (D) 1,2,3 U\ 4

Rl Bley, vl dat Rasol (@ (st [Qetell tua A
(1) WogRABHL Sellaul Halg o 2R wad .

(2) Ul Ul@le] (Rt wosclioll 9 1AL w1AA B.

(3) Ul H(E R SARIHL AUAA B.

(4) & H2 A Hele(@AYRHM wAd 8.

GURall [Qutell USl 53] / s (Atitet / [Quiloll ALY / AU B?

(A) $5c1 2 W 3 (B) $5c12, 3 Aol 4

(C) 85l 1,3 U 4 (D) 1,2,3 Ao\ 4

ol Aati UL 2oll 2Rl €2 Ui a¥ seumi A B2
1. dlsuel

2. AU

3. [Quistuew

4. Uls elR(oe{l YA

{1 Aetl Ul AA [AscU UriE 3.
(A) §5cl 1,2, %at 4 (B) $5c12, 3 0 4
(C) §5c 1,3 U 4 (D) 1,2,3 U\ 4

A8l O HU (AN ol Aetl (At LU AL

(1) Aedlat ol 1 a2 auell Yot Y.

(2) AFl2A w11 2 seelautell weslolte Yl

GURell (Qutell Ul 53f / sl [Quutot / [Qutell A1y / AUl &2
(A) 85l 1 (B) $5c1 2

(C) 1 A 2 ol (D) slAHill As el o8l
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[P.T.O

31



46. M%emaﬁ el ollotd ol Aeti (Atlell taulal AL

1. India State of Forest Report — 2P ACH FOIR RN HH ORI c12019] A5 Aol & @llol(AS

(ActlRell HIA 2.8 251 .

2. 9%RAcAHL 5A 8 5 Ucscll A (Agro-climatic Zones) .
3. 9% RAAHL $A U RQRAS Rlat B.

4, AUl 8 s volleal AN (Agro-climatic Zones)Hi el dulR Y &2 (Arid Zone)

AR Ul B.

47.

48.

49.

GURall (Qautoll U8 sl (Qeitell AU B?
(A) 85l 1,2 33 (B) 8513 U 4

(C) §5cl 1 Aol 2 (D) 1,2,3 Ao\ 4

URAR o WRetl 12 Al 30 B2 U lat Al ARl AL AL 8912 Ases Ul 32l clloul 6312

(A) Uil 7 ol & 20 AR (B) ARt 11 cwdll A 10 AR

(C) lQRell 12 cldll A 50 AR (D) Aot 12 ad(l A 40 AR,
you ever been in trouble like him? Did help you?

(A) was, no one (B) has, some one

(C) is, some one (D) have, any one

The words in the sentence below are jumbled.

Suddenly he into slipped fell water and Rearrange the words to make a meaningful sentence and choose the

correct answer from below where the words are in order.

50.

51.

(A) Suddenly he slipped into water fell and.
(B) Suddenly he into water slipped and fell.
(C) Suddenly he slipped and fell into water.
(D) Suddenly he fell into water slipped and.

A (3eH 585 slalcsaUla UUR oAl B?
(A) declHR B) oA el a2
(C) URsHL atiel Hauoll (D) (B21R el ul

DL AL A ULEIN ULy UL SdClclotl ALU A URiE 5.



(A) AL E:W A dl ULl Yl
(B) LA WO Aso] A s
(C) 1B Ul Al 51A Ul

(D) oiq elct (Ea

52, o{lAati Usl s2u &20Hi euRcla Guuisatl Yool calsel asiytilot Al atluod asiytlstoll Slal GUR §%

oo d 82
1.3y A A 2. Yollef2s (So1su
3. WRARACS 4. AURALS
ol Aot Ul A [Aseu urie s
(A) 85cl 1 Aol 2 (B) §5c1 2 3al 3
(C) $5c 3 Ul 4 (D) §5cl 1,2 Aal 3

53, [y Asld @V o{lAstl Quuall t2ual A
(1) Ry rslAe] vie? Qoucll opsAHl 21ad B.
2) Ry zslAe] Has sUAviolet AseUAML WA B.
(3) H&- %1- £\l YARof Bleu woll 2uad 8.
(4) 51 olcl8loj @Qeu suumiell Hofl 2uad 8.
GURell [Qutell Ul 53) / s2ui (Atitet / [Quiloll ALY / AU B?
(A) $5cl 1,2 ¥al 3
(B) $5c1 2 uA 3
(C) $5cl 1,3 Wl 4

(D) 1,2,3 WA 4

54, datadl e reurdlell el 2431 ol Aot [Quiell tauial AL
(1) 4L el 2l A2 jerluiu LRl AlesellHi uUA 8.

(2) A2 Y2RUU elRctell 2RlUUsl dloll 50 511 52 B.

[PJC [P.T.O KA



55.

56.

57.

58.

59.

mxreou (Quisll Usl 53] / sl [Qutet / [Quoll ALY / AUl B?

(A) 85cL 1 SPACE FOR R8)g&it WORK
(C) 1 a2 olal (D) el As ugL ol
w2t (AN ol Aot [Quutell tauial A

(1) Ro3cl Glos 2ls S(odaul gLt cRuwell €A atuauel goucl atll e
) 8lAs Fell HolRlA 51RQ Geuteot 1 Al goul citll ad.

GURall [Qutell Ul 53] / sl (Quitet / (Aol Y / AUl B?

(A) 85 1 (B) §5c12

(C) 1 WA 2 6ol (D) dAH el As UL o8l

GST 516 ol AeelMl ofl Aotl US| sali (Aol ALuL B?

1. GST 516 As dullls el B.

2. GST 516Gt viratet d3l3 Foslat stz sl .

3. GST $LGAAA AHIH HAHBN A%2L ARSI AUl Fos URSIR HI2 oltlolsdl B,
4. %A URSIR gl A gt 5185 el Ul GST sIG[RAAA Ue 8 o3 B.
GURell (Aol U8l sl [Qutsll il 82

(A) §5cl 1,2 3al 3 (B) $5c1 2 ol 4

(C) §5 1,2 v 4 (D) 1,2,3 U\ 4

20 {122 uld Asosell 350 720 A 22 vAR slUAl e AH2A AL

(A) 36 5ClLS (B) 26 5CUS
(C) 16 sclls (D) 10 sclls
Where is the child parents have come to school?
(A) who (B) whose
(C) whom (D) which
She pushed off a leaf and let it down.

(A) glide (B) glided



60.

61.

62.

63.

(C) will glide (D) glode

ol AL Qe (AN U [Ascu urie 53
1. A5 GriH A& %, 131 A Acl Bl-ysla sl acliati UicRs AR Ausia B.

2. A5 Gt e %, 613 a Al -y Mo Asi Ucliotl UidRs @AM AuslaA B,

3. UIRL eolze AU Hojedel Mol el Al scll 313 ol ASlotl Yugw A 2.l Adi &l

4. HIRD c0RYU AAML Hojoldel Ha Bl AH AL &cll 313 oflost ASlotl Yug:w A 180l Adl s

(A) @ttt 1 1 3 AU D (B) (At 1 vl 4 AU D

(C) [Quitot 2 Wl 4 WU B (D) [Atllot 2 WA 3 AU B

Al QAetl @sclHiell sai @scuni ottll S1sell 2l 82
(A) oA, A, scustilda

(B) %], aotallRl, e Excd

(C) atldaldt, g, BsLes

P ERERRRERI

ULyl Ygal 51A AL A AHURUL B, o{l Aol US| s2ul 220 Yotoll AT A B?

1. AR 2. ARG 3. WS

4. 8331 5. (301Q0s 6. At

ol Aott Usl AA [Ascu ure $A.

(A) $5cl 1,2,3 3l 5 (B) $5c1 2, 3,4 3al 5
(C) 85 1, 3, 4 Vol 6 (D) 1,2,3,4,53al 6

s ctatl eUURL (AN ol Aot [Quitoll taulal AL

(1) Reyul gaustca AAS| SLOHT el el sl .
(2) DAASlo] HAld dolel AEAS| sLOHT did il 41 6.
(3) Hl32Uej YAHR R WAL stul oliucHl 2] sd.

(4) Y HoARR olldoll Bot Yol WAALRUotl A2 $IR GUR Bol H[EA sluulcul &l

[PJC [P.T.O
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m\{i’dl Quiell Usl 53 / sal [@Qutet / [Qutoll ALY / AUl 82
(A) 85 1,2 ¥al 3 SPACE FOR ROUGH WORK
(B) $5c1 2, 3 ol 4
(C) $5ct 1,3 A 4

(D) 1,2, 3 vlal 4

64. AU Ut AN ol Aetl (Aol Ll A
(1) A%AUUA Aol ASl WUEIA AU Yyl U2y (doll (AHRs 53 8.
(2) RAVAULEA AU %152 Acll ALRAdLetl A tdetoll [ugs 52 8.
GuRell (Qulell Ul 59f / sl [Quitet / Quutell ALY / AU B2
(A) §5cl 1 (B) 52

(C) 1w 2 ol (D) olaHiell As ULl 18l

65. GDP (Nominal Rate) - 45 ¢ GAULE (UHIoA E)al WUUR ARcloll (AeHl eUlet 3 ol Aoti (QAtutall

LAl AL

(1) GDP (Nominal Rate) - USE U] GeULE (AUMLoL E)ol UIUR WRAR MR clo] eUlot Qe uiuH 57

(2) AURcl UMBLE U AR GDP (Nominal Rate) - A5H U GAULE (AU HLo E)A AU o] eULst 951 57
&d.

GURall [Qutell Ul 53] / sl (Aot / [Quloll ALY / AU B?

(A) §5ct 1 (B) $5c 2

(C) 1 W 2 6ial (D) staHiel As uwL o8l

66. ot slsQoetotl AEeIHl ol Aotl [@Quiloll uslA

1. slolotoll lddl datsall wal wEAG A SuRlell GUADL Ualsal GlRd URS1R flot sleQeyet (alet W2

2023-240ll (B2 Ui sloaRll 531 8.

2.
2030 YllHi Ui MUAQast 2ot oflot sLEQLost BeUlEoll Al A cllM] el B.



67.

68.

69.

70.

71.

72.

GURell (Aol Ul 53 / sl (Aot / (Qeitoll ALY / AU B?
(A) 85l 1 (B) $5c12

(C) 1 a2 lal (D) olaHiel As Ll 18l

SlA%el YlldHl 40 QautelRA Aol 60 (Aol ol A B. Yol HAEls WL 3. 1200 ARl D.
(Qau(elllal WML 40% 92 auclel uUat 2ol W [AeneRA cRA AW etdl adl Actall 8lal Al €38
(QeuellA 2l W Ysaalel aa?

(A) 3.1700 (B) 3. 1850

(C) 3. 1920 (D) 3. 1950

The old lady I met in your house is my neighbour.

(A) who (B) whose

(C) whom (D) that

How do you think the ant felt on a leaf?

(A) wet (B) dry (C) finding (D) see

‘gL’ 2lo€ 112 A[R[AYeA A [Ascu Urie 53A:
(A) & + ML (B) &l + ol

(C) &t + g™l (D) &Y + ™

QEL USAL cllsuall [Ascu urle 53
(A) W Gl HL.

(B) Hol ALELR HL.

(C) gL (Aot oflof AA HLR.

(D) AN Y %% UL.

AR ol AR AELA Aol Yy s SlaL 82
(A) 12 €lus @su (B) oAl 4301 Bsu
(C) s SL. culaL. isYs (D) cuAH(c 3.l oNINES

[PIC
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73. M%ﬂ ol cal (AN o{lAxt M S5l 21l Al

%L - dal SPACE FOR ROUGH WORK
Lslbls - swa
2.3%EHel —  AUS
3.edlgol - RAwse
4. 855l - sMQL

GuRoll W55l Usl sl Wssi AU B?
(A) g5l 1,2 0 3 (B) 551 1,2 % 4

(C) §5cl 1 WA 2 (D) 1,2,3 ¥al 4

74. QAR 1% QN o{{Aeti (AQtutell t2u1 AL
(1) vl 1o Areulell el €2 Ui a¥ saui w1a 8.

2) 818 Uatadl A% ARelle] doll auct Yact Yol sctiotl A ad Udal [Quteet sl A Al [Quesotsdl
AWl & 1ol vie feull sl gABauld B.

GURell [Quiell USl 53] / sl (Aot / [Quiloll ALY / AU B?

(A) 85cl 1 (B) $5c1 2

(C) 1 Wal 2 oo\ (D) olaHiell As el o1&l
75.  (R33d Aes A s (D loll ol 5L B?

(A) AGASLocll ELL (B) [QRe Guitan

(C) QFd ueed (D) RYRAH A%t

76. R 612 2023-24 ollold ol Aot (Atitell USIRAL

1. Al Ml wEost(Aullett ucioll @stat 1 Yuanisll 2l H @ ucfoll Gesl Dogatoll ot

sclH ull ®.

2. vl olgHl oliusiH SIMERell scURL HIZ HuaHsl s1Als tARL Aol Bell oicll A oyailoll s1dpAcd

scllHL Ll B,



3. Al olBeHl PMJAY-MA 860 URalRk €ls alls cflan saa Halel 5,00,000e auila 1Mb,000

scllofl @A U B,

4. L WUl sl osActatl At lsGeulestl Ry old Wotsle] AdLELet Al 42% sRclloll

AdAA 531 B.

77.

78.

79.

80.

81.

82.

GURall (Quloll U8 sl (Qetell AU B?
(A) $5cl 1,2 ¥al 3

(C) 85 1 w2

As AU 250,0000{l cxe 10 251 ol§l 83| A T AlMoll ] 4 251 W2 53l AA D, Al Aal.

(A) 0.67 25l al8l U
(C) 0.67 25l V2 U
Why Abha live in the orphanage?

(A)is
(C) has

He a small creeper at the foot of the tree.

(A) see
(C) notice

R sRloAl 2=t [QAscu urle 53,
(A) Nall, B

(C) $&t, YL@

ol Aotl US Yg cllsalall [Ascu ue 5.

(A) JUSIHL Aoty R 26 &d].

(B) $5cl 3 3ol 4

(D) 1,2,3 ¥al 4

(B) 0.87 251 o1l U

(D) 0.87 251 W2 UL

(B) do
(D) did

(B) show
(D) noticed

(B) SI, olua

(D) §&4, §cct

B) (Qewello] AsHA AU Sl ® — Grid WA

(C) AR HLAZ SIH dl U3 82

(D) M2 33 9 lole GHe: B!

o{lAotl £ 20 USL 52Ul 2N AHLA %)-20 & ML UL B?
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m sl 2. @R 3. Yot

4. (20 5. e([QABBREE FOR ROIAGHRNORK
ol Aotl USl A [Ascu Ui 53A.

(A) $5c11,2,3 3ol 4 (B) $5c 1, 3, 5 al 6
(C) 85 1,2,4,5 3l 6 (D)1,2,3,4,53% 6

83. Mol olltlloll M s UL “Ucuall YA oll 2i)%Y Bajclle 510 sAL &l 2
(A) BAUSRAA &3 (B) URER Ue

(C) HelE ACUE EAUE (D) YEALGUES EULY

84. Al yaadl ees R at 58 AW Gosaaui 41 82
(A) 21 3oj3l (B) 21 AR
(C) 21 %ot (D) 24 A

85. (s Ulatal Slotl gLl daulR seHl 1A &2
(A) sllRll Yol B) sllall AR

(C) oLl AALESIR (D) ol A0t AUt

86. AUdloll AL dLeLall sAUL AsHoU UL AUl &7
(A) Hl2? @) Al

(€) ustatery (D) GunHiell A5 uwl «18l

87. 15 clsclotl oguHl 7 culsel oAl cliAl 23 & wal 8 caulsel HRAsl clifl 2 B, &R 3 caulse siaiell A s
wet el ail ascll otell Al 3ecll caulsel il USL S1eS As & eunt cliAl sl 8912
(A)3 (B) 6 (©)9 (D) 12

88.  Shh! The baby is . Don’t make sound, or she will
(A) sleep, wake up
(B) sleeping, wake up
(C) to sleep, wake up
(D) sleeping, waking up



89.

90.

91.

92.

93.

94.

What happened when you do as they asked you to do?
(A) didn’t (B) doesn’t
(C) does not (D) have

HIAL (80 A ealadl [@Aseu urie 53
(A) QAUR, otcRLA, UL (B) AULcLg, AQROL, AGRUY

(C) AcAls, vueg, vl (D) WS, AL, (318t

ol A WAL ReR AR c2fogot 12 sHo{l A A0 [Aseu ue 5A
(A)dAE Y
(B) § 6L &L M
(C)salld

(D) G GL A

oy 2022¢{1 2tieles sl-AUR(R el WI[AlsBAAAl QMR Aes sl ASHL Al Hl vl ol 2

(A) AHRSE (B) otcll (£ cél
(C) AL (D) £2lle®
B 5 SLSL.

Aol Usl? 931Rell UL AUIHL A B

1. Aaoridtl s WiuRletl slssi clAA Ui

2. Wel- el Wl w. deulell it

3. Guidfl A oL [Adol dal uenell slssi A A
4. 31U A . OREL AUl MU S Al AL

AUleloll UsR 2A3NRell sl GOHL AMAA B Aal Sl ol Aol weitodl US| ARA oL UE $3.

(A) 1-9, 2-5, 3-W, 4-01 (B) 1-8, 2-W, 3-8, 4-91
(C) 1-8, 2-8, 3-W, 4-3L (D) 1-W, 2-3L, 3-¢0 , 4-8
RS sl LS\

[PJC [P.T.O Kl



95.

Mm@id O U WDOE

1. AHletclloll A[As1R SPACE FOR ROI#BeWORK

2. oluRlla Gl U@ s12 U W] OE 21

3. % clol WA (50l el 2Acllall AU[ASIR L WYBDE 21A

4. Qlagel AU s1IR e, W AWE 32

Hefct AUBSRA HUA Aol W 2DERA S5l ol Aol 2cltoll US| WA scllol UAE 5.
(A) 1-¢, 2-8, 3-W, 4-3 (B) 1-8, 2-W, 3-8, 4-01

(C) 1-5, 2-84, 3-W, 4-9| (D) 1-58, 2-4, 3-3L, 4-W

AU WUEIAA ALBARML AUAA YSLEL Yol BlRctotl Yyt Y2l sPetatRell [Hys Sl elcuHael

scllo{l U B?

96.

(A) {2l Hso
(B) cstytilet, (AR Ustatl Al W stAEL Yellotoll el w@(Q
(C) sty tilot, (AR Ueloll Al Aa 96 Ytllotoll tacll w@A(Q

(D) astytllet, (AAYU Utotl alcll ol AR AL Aol Yyl sl (doll el AR (A

(QatPat daut woflos uesoll JRA 5128 &l AW / [Ag(A 2\ S5 5L 1S\

(QatMet wo(ls eles Aa/AslA
1[QaRat Sl 5. slssi ual eicdall sdlalle
2. 3(@=an u. LA (dNE2R)

3. wA(Set dL. uig QL

4. Aecladl . YScilot

(Q21Blet ctau viollos tesell JRA 5123 Ut A0 / (As(A A i ol Aoti citol USL U scllol UAE 53,
(A) 1-4, 2-5, 3-0L, 4-W (B) 1-¢, 2-9L, 3-8, 4-W

(C) 1-4, 2-5, 3-W, 4-21 (D) 1-58, 2-%1, 3-W, 4-01



97. 100 (QauellpAatl URRA2A RL 40 B. Wevnll ol usl 3 As (Aeulloll 91l 63 &cll, U efctell Ebzua

QAHL AU &cll L ULRAL ARRALA YR F2El 892

(A)39 (B) 39.5
(C) 39.7 (D) 39.8

98.  The tourist were to see the beautiful lake.
(A) amazing (B) amazed
(C) too amaze (D) to amaze

99. “Don’t you ?,” replied the wise bird.
(A) saw (B) see
(C) has seen (D) to see

100. o{lA BUAAL BELSQAHL A EL US i BELSRUoAL VSRl USLIR UL
1. scllRUHe{l wusl Bell i) 2 u lauofl
2. q actudl slgu Bell .. ARalse{l 3R 331
3. %01 ALl HRY ollsct 2l A dlv] dAHdAH
4.  IRH HAUAER vdlHlal custoll
(A)3Us (B) A cllRAULL

(C) Glau (D) GUHL
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